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-! oy < TR T
o R = ftafm&msﬁf’am%,ﬁm%am
il (;mgﬁ 3dh ) faferan S (D) STH TR
f inquiry based education 7
@V

1. ;
A < stfod 0
Who introduced discovery '(‘;‘;"L'gg:{géivzy william James
zﬁﬁ:rﬁmﬂnﬁﬁmﬁi%mﬁmm%
: (D) e famm

ERAL KNOW
G2

(D) Jerome Bruner

(A) Jean pPiaget f\aﬁ A ? A

qafarofta Rt 7 Ul g & QY
2 Ty (B) Srerary faRi () ur
The timing of seasonal activities of plarits In relation to change in environmental conditions is referred to as
(A) Forestry B) Climaglggy (C) Ecology ., (D) Phenology
5 ity wwe (2025 —26) ¥ qEa veel @I HA g AT G Fﬁﬂvm‘mﬁmw%
% ford 0o (B) Fiters <ew Aften % ol
- (D) it & % Afrl & ford

(@) T i .

() fafmfor 85 & sl s A =
fsttime Social Security Scheme for Welfare has been proposed for

(B) Online platform workers

Under the Union Budget (2025 — 26), fi
(A) Women workers
!/DY Agricultural workers

(C) Manufacturing workers N

4. TrETEE WSS T Add @ ‘ég | A
(A) 1024 TrTETSEE (B) 1oz4§_iya13§a (C) 1024 FT3H (D) 1024 fercitamsed
(D) 1024 kilobytes

The term gigabyte refers to : ‘
(A) 1024 gigabytes uamm E“g%pabwes" (C) 1024 bytes
5. ﬂ%ammmé,ﬁqﬁﬁ@ﬁ’mww@aﬁm(R)E%Tw%|
aﬁmmm):mﬁémﬁﬁ;ﬁ%wﬁmm%,ﬁaﬁﬁmﬁmal
m(n):w%wwm,ﬁ%m,%wﬂm%| ot ERE
9 fog ¢ Fe & @ T I GhT > , %‘%E
= S : S
W W, T REEE &
(B) (A) T B, Tg (R) TR €D '
(A) ST TE SATEAT <L

(C) (A) 3 (R) SHT |1 § IR (R),
(D) (A) 3 (R) 2T @ &, T (R, (A) 1 T ST T T R

2rver:1 below are two statements, oné-18’labelled as Assertion (A) and the other as Reason (R)
ssertion (A) : When a ship leaves a river and enters the ocean it rises a little. .

g}_@} :eason (R) : The density of sea water |s more than that of river water.
o 0T elect the correct answer from the code given below :
, E¥z Code : ¢ 1 .
(A) (A) s false, but (R) Is true -
(B) (A) Is true, but (R) Is false S )
Both (A) and (R) are true and (R).i8 the correct explanation of (A)

(D) Both (A) and (R) are true, but (HUq not the correct explanation of (A)
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(C) 3T ISR o

A type of unemployment in which the
8 difference, is called
SA)/ Disguised unemployment

3lel

(C) Under employment

7. aﬁéaﬁm%@ﬁnﬁﬁﬂq—mw\m
(A) MS PowerPoint (TH. TH. TETEEE)

GET IT ON
Google Play

mﬁ%ﬂwnﬁ,ﬁaﬁ%&ﬁaﬁm%&ﬁmﬁﬁ@#mq@mﬁg IR T T 2, T 2
(A) TSR AT py e

(B) Hgdt R
(D) Fq=i SOt

o
presence or absence of a person in a job does not make a

(B) Seasonal unemployment
(D) Formal unemployment

qarg ?

(B) Google Docs (T 1)

(C) MS Access (T, T0. @) - % (D) MS Excel (T TH. &)
Which tool is used among the following fordata calculation ?
(A) MS PowerPoint g‘; (B) Google Docs
) &
8. et i 2w o few a8 ar R T e 7 %
In which year Dyarchy was started in the provinces ?
(A) 1937 (B) 1935 - ‘g Gy 1909 (D) 1919
ST -
9. 193?6%1—2013@11@3?&31 i ey TR & ?
(A) TR, T E (B) bl TSR
() & feeeht, W e (D) it f& o, sfiet
oo
Where was 19™ G-20 summit held ?
(A) Moscow, Russia N (B) Jakarta, Indonesia
(C) New Delhi, India o (%io de Janeiro, Brazil
o
10. ﬁmﬁﬁ:—mwm'%? )
@) 3@ i @ s & (C) < Frs T (D) WHI
Which of the following is an ‘input device' f’g
Mraille reader )&B) Projector QO (C) Bar code reader (D) Montitor
11. Wmaﬁmﬁgﬁmm@ o

i

(A) 28 3T, 2014 o
(Gy'2 3, 2014 g
When Swachha Bharat Mission was started ?

-t
(A) 28 August, 2014 0
(9/2’ October, 2014 -

Qo

036

(B) 22 5al, 2015
(D) 21 30T, 2014

(B) 22 January, 2015
(D) 21 August, 2014
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12, vfeafean wal ) s winll safy 3
1, Wl
2, e

(
(
% 3, weef C.
P8 4, ey "
N9 faw, o g5 3 D ) W,
he: 0
(A) 3,4,2,1
(C) 4,3,2,1

I s i ey s [

T W W W

BY 3,2,1,4
- D) 4,1,8,2
Arrango the following planets In descending ordor according to their omitsl period,

-
1. 8aturn ¢ ;
2. Maro —
3. Jupltor | E)ﬂj
4. Uranus o g%ﬁz]
Chooge the corract answer from the codo glven below : Ofez
Codo : s
()
(A) 3,4,2,1 (52 Br3,21,4
D
(C) 4,3,2,1 & (D) 4,1,3,2
13, fs mgmrd (2020 - 21)%?ﬁmmgﬂmmﬁ:ﬂ it w1 vy sdorre % i 4
Jufra AR | o0
(BY T, Aa1, Hfy (B) @41, I, iy
(C) Hft, dan, I e (D) #an, Hfu, 3w
Seloct the order of worst affected sectors lE)ho context of Indlan Economy during Covid Pandemic
(2020 - 21). -
(A) Industry, Service, Agriculture Q (B) Service, Industry, Agriculture
(C) Agriculture, Service, Industry m (D) Service, Agriculture, Industry
14, mmaam-mmmnﬁumﬁammmmmmmmwf 7
(A) femfivt 6 sivafeer @9m @ (B) I~1d My wgfdl %1 wam Fen

(©) wiferh weea ghfem e = (D) formr wheel s e

Which one among the following Is a prlmgr;) ethical consideration when conducting research involving

human participants ? ()

——t
(é)/ﬂlalntalnlng participant anonymity (B) Utilizing advanced research methodology
(C) Ensuring statistical significance 5; (D) Achieving a large sample size
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. T SRR »
II. gaem - E&E g
. SR S :
IvV. 3l ©
‘-ﬁ%ﬁqnq?&‘ﬁ@aﬁwgﬁrq; w
% | Co
LA) I, 1, r|1|, \Y B) I, 1,1V, | (©) 1,1, 1v, (D) I, IV, 1, i
rrange the following atmospheric gases in order of their volum i deswmﬁng' -
|. Carbon dioxide = " peiceniages e
1I. Nitrogen : g 5
EIEE 1. oxygen _ , - O
-

[E2E IV, Argon
Choose the correct answer from the code giv;e‘hibelow 5
(e

Code: )
@(I, I, 1, v B) ILU,IV,I oo (C) LIV, oY1 v, 1
16. 2024 % wreha wRnfy v fafm i (S 1 srem 6 R o ar 2
(A) €. AR, FgdT E;f ®) I. . =
(C) 3™ wmit S (0) W TR g |
Who was appointed as the Chairperson of theGecurities and Exchange Board of India (SEBI) in 2024 ?
i &~  (B) U.K.Sinha
J(é)) 2,-'3&“—';22? 5 (D) MahabiPuriBuch
LY
eIk ?
17 mﬁmmmmﬁﬁm@@mﬁaﬁwﬁmw .
(A) 1013 SR T (8) gjzrlaﬁm. FNH
(C) o6 af dfera™ dee = (D) 9 aﬁmmﬁm‘ R
By which Constitutional Amendment, the Co-égérative Socisties were given Constitutional s ?
y 5 .
@t 01th Constitutional Amendment > (B) 99™ Constitutional Amendment
(Q),Q?"‘ Constitutional Amendment

(C) 96th Constitutional Amendment I

$)
mﬂﬁ‘q’éwwmamﬁ;rﬁrﬁfﬁﬁw%h

18. L
What is the binary representation of decimal nimber 10 ? i
(A) 1100 (8) 1010 (C) 0110 /m\y
y . ) Y
1o, i Fra R TogE % F H ST ? N
Je5d < (B) IHIW
o fergar (D) s
o th eas ang:%bassador ?
i com : |
g &% By Chandragupta Mauye
a K
(C) Bindusar : 0 (D) Asho
10
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20. Trg wet F 4y oRAE @, 2023 @A R 1@ A 7

N D) T
) @ T = (c) iR (D) TS
In which city Para Asian Games, 2023 were held ?
(8y Shanghai (B) Hangzhdu: (C) Beijing (D) Guangzhoy
21. Pl § ¥ $H-8 & TWR mm%mmﬁmm Figuiedl 1 @lie T = T 5
= (B) H1E =
(A) FIET gfeT -
(©) T qg oo (D) e R
1 Which one among the following is a market based system where companies can buy and sell emissign
f permits ? E;
% (A) Carbon Trading = (B) Carbon Sink
,’ (C) Carbon Space 2 (D) Carbon Sequestration
-/
22. fmtafed i & e § wafen IS :
I. SRS g ~ @E
| II. TP T T o Bz
I11. Guht T fogeryor - >
IV. G 6 WA -
= o g % F 2w s ghe g
&2 : -
St
(A) L, v (8) 11, 11, IVL C) LI, Iv, (D) LIv, 1L 1
Arrange the following in a sequence (&®)
I. Raw Data — )
Il. Data Processing Co
lll. Analysis of Data
EI%% IV. Presentation of Data
@. z Choose the correct answer from the oodégiven below :
y S
A1, 1, v (8) 1,1, IV. U (C) L1, 1v, m (D) 1, IV, i, i
23. dfierrg § U Tt Tt e “aﬁa]méﬁm % grr w2
(A) e faeg w3t @ (B) A FAR
(C) +ud g& o (D) WHiwT
Who launched ‘Tamilaga Vettri Kazhagam', a new political party in Tamil Nadu ?
(A) Joseph Vijay Chandrashekhar ’X (Y Ajith Kumar
‘(py Kamal Hasan E} (D) Rajnikant
. &
24. MRQ W1 g 6K fm ‘anfeer we @H&ﬁaﬁmw%ﬂ ?
(A) 9= 2023 “(B) 1 2023., (€) fawr 2023 (D) AFW 2024
When was first solar mission of India ‘Agntya L1’ launched ?
(A) November 2023 (B)Adune 20%;:: (C) September 2023 (D) October 2024
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25. ‘I et R 3 3
(A) FSH T weEge g ﬁmqi}}m%? .
©) Touma =i o (‘s;“ﬂﬁwzﬁﬁasﬁaﬁa

‘Cartagena Protocol’ is related to which ong;f the following 2

(A) Ozone layer conserva
ay tion P (B) Living modified organisms

C) He o
© ritage sites N 9) Wetlands

26. ﬁmmmﬁﬁ?—mmmﬁmﬁ “fefrea aftn” < gk
B AT Wt & ? 3 it
A) éhﬁn@wgﬁﬁ?aﬁam(leﬁéu) (B) Rfiea sfeam wrlsmm

(C) =3 9rd AREH ‘»:4 (D) 9T Tt fefree amgatt (NDLI)
Which initiative of UGC aims to address the e-challenges of “Digital Learning” in higher education ?
(A) Indira Gandhi National Open University ((GNOU) (B) Digital India Programme

(C) Swachh Bharat Abhiyan ©O (Dy-National Digital Library of India (NDL)

27. ﬁq%rﬁaaﬁaﬁw—m@ﬁwmaﬁ@@’rﬁ
(A) €T EEA o (B)arz:ﬁr{rm -
©) fram — (D) = T 5%‘5
Which one of the following subjects is not l@e concurrent list ? b
(A)l Public health ') (ByWeights and measures

(C) Education - (D) Administration of justice

mﬁhﬁmmmqﬁ%ﬁgﬁnwﬂaﬂ%ﬁ}ﬂmam%mﬁmw

T g AT ? oo
(A) 033, 1947 (B) 04, 1947 t
E‘%[g On which date Gandhiji asked Congressme%fo accep
™I 2 ~
B 1547 C) 14 June, 1947
B) 04 June, 1947 (C) ’
(A) 03 June, 1947 (B) Ly

po, guR Tl 1 ST T fepet fopaman 7 e 02 3. @
>

(C) 1474, 1947 (D) 123, 1947
the Partition of India at the All India Congress

-

12 June, 1947
EE @7

Who was the first to apply the sociometric t‘gét ? 48) A.J. Relss
(A) AM Edwards (B) J.L MOYenO (C) J. A. Davis .y
i G 3 o argede  ae A e 31 e s 6 T A A D

e A o (B) IR
(A) FT=E 32 9 (o) RS -
© o o Constitutio } n ls‘;:e Right to Education guarameed as Fundamental Right 7
Under W:;dl 3:.rbde of Indian = (8) Atticle 19
(A) Article _ D) Article 45
(Cx Article 21(A) co ( 10
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13 B
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158B

16 D
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198B
20B
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24 C
258B
26D
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